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Stoichiometry Practice MC

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. (#6-1) A 0.5 mole sample of Hydrobromic Acid (HBr) will have a mass of

a. 80.9 grams c. 224g

b. 40.5 grams d. 6.022 E23

1 gram o reacts with 1 gram of O, via combustion. Answer the following questions relative to the
reaction.

2. (#7) A 10mL solution of 0.20M CuCl, reacts completely with solid Al forming AlCl; and hydeegergas.
What is the concentration of the Gepper ions
a. 0.1IM Chlyri (L
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2C;Hy) + 5055 = 2H;0() + 4C0Oy
Acetylene is a common fuel used in welding. Answer the following questions.

3. (#7-1) If you have 10 grams of C,H, and 10 grams of O,, which of the following correctly describes the
quantites of particles?
a. The quantities of particles are equal
You have more C,H;
¢. You have more O,
d. This question would require the number of moles to answer and that was not given.

4. (#7-2) If 1 mole of each reactant were used WI@S)C the limiting reactant? e
a. Csz C. 02 - 7 fZ{b{Q
b. CO, ~H0 hi 5\" ¢

5. (#7-1) Each substance used in the reaction above was analysized and the following was determined. The
sample was massed to contain 13g and found to contain 0.5 moles. Which substance was being analyzed?
b. 0
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6. (#7-2 & #7-1)A sample of 13 grams of C,H; is reacted with excess oxygen. How much H,O and CO, will be

produced respectively?
a. 0.5gand0.5g mm
b. 0.5gand 1g 'd.  13gand 26g
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7. (#6-2 & #6-3) A sample of C,H, is going to be burned. How many molecules of O, would be needed here?
2C5Hag) + 502 = 2Hy0() + 4COy
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8. (#6-2 & #6-3) A sample of C;H, is going to be burned. Which of the following plctures would represent the
substance after the reaction has gone to completion?

2C,H, + 50, = 2H,0 + 4CO,
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9. (#6- 1)If the 13g sample of C,H, (prior to bummg) were to be stored in a balloon at STP, how large would that

balloon be?
a. 0.5 mol o ‘/L wol - Q
b. 224L E23 L

10.  (#6-1) Which of these substances contains more than 1 mole of particle;
a. 1 mol C;Hy b. 20L O, (STP) c. 17gH,0
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